REPLACEMENT PARTS LIST

PART NO. FART NAME SPECIFICATIONS SYMBOLIC OR EXPLODED VIEW NO.

ACCNO19GEA | CONN CORD ASSY.

ACCMNDZ0GEA | CONN CORD ASSY.

APTBMIZAUG | P.W. BOARD ASSY.

APTLDOMODA | P.W. BOARD ASSY.

APTSWIB4HA | PW. BOARD ASSY.

CCDE151KOM | CERAMIC CAP. 150 pF 200V c2m

CEAGRIZZMN| ELYT. CAFACITOR 0.22 uF 50 MS C216

CKDB103PEM | CERAMIC CAP. 0.01 uF 50V C202/C203/C205/C207/C210/C211

CKDB472PEM | CERAMIC CAP. 4700 pF 50V C208/C209/CN 2/CN3/C4/C217

CKDB4732FM | CERAMIC CAP. 0.047 uF a0V C204/C206

COMB103KEH { MYLAR CAPACITOR 001 pF BOV c21s

GALPIUKACY | WIRES KIT

ROD2ZE5TJ102X CARBON FILM R, 0.25W 1K obm R201

RDO25TJZ71X CARBON FILM R. 0.25W 270 ohm R203

RD25TJ383X CARBON FILM R. 0.25wW 39K ohm R202

RVNAT03BOG VR 10K ohm B-CURVE 16M/M 1-GANG | VRZ

RVYNAID4B02 | VR. 100K ohm B-CURVE 16M/M 1-GANG | VR3

RVNAZO3BO3 WA, 20K ohm B-CURVE 16M/M 1-GANG | VRS

RVYMNASDZA0E6 | VR. BK ohm A-CURVE 16M/M 1.GANG | VR4

RVNES03A04 VA. 80K ohm A-CURVE 16M/M 1-GANG | VR1/51

S30202202L SLIDE SWITCH 53/54/35/56/57

SS0203032L SLIDE SWITCH 52

YJBO250072 DCJACK J2

YJCO250092 JACK J1

YJTO35003Z 3P JACK J4/l5

Y JZ0450082Z 4P MIC JACK J3

ZMJI2030N0E METER M

ZPADB4139V LAMP FL2Z/PL3

ZOADFI0B07 SPEAKER SP

AMRVC24001 FRAME ASSY 1

ERT2G635CAX | THIN HEAD RIVET 2.6 x 3.5 ALMINUM B11-1/B11-2

BSPB20DOZNN BIND HEAD SCREW | +BIT, M2 x 3 B3-1/B3-10/B3-11/B83-12/B3-2/B3-3/B3-4/
B3-5/B3-6/B3-7/B3-8/B3-9

BSPB2GOENN BIND HEAD SCREW | +BIT, MZ2E6x 86 B4-1/84-2

BSPB300ENN BIND HEAD SCREW | +BIT, M3 x & B10-1/B10-2/B6/B7-1/B7-2/BB-1/BB-2f
BB-3/B8-4/B8-1/B9-2/B5-3/B9-4

BSPEZ0D8BNB BIND HEAD SCREW | +BIT, M3 x 8 BE5-1/B52/B5-3

BSPL30D0DENE BIND NAIL SCREW +BIT, M3x 6 B12-1/812-2/812-3/B12-4/B12-5/B12-6/B12.7/B12-8

BSPS2605NN FLAT HEAD SCREW | +BIT. M26x5 B1-1/B1-2/81-3/B81-4/B1.5/B1-6

BTPX3008BZ LT BT SCREW +BIT, M3x 8 B2-1/B2-2/B2-3/B2-4

MBTEZ5L0D03 FRONT PANEL 4

ML12132007 BRACKET 11-1/11-2/11.3

ML4T15Z002 BRACKET 10

MLSZZENDOT TERMINAL 14

MSE0EBNOOY TERMINAL 16

MT213BD014 SUPPORT g

MUZ24352002 BRACKET 8

MUGS7752119 CHASSIS 5

MU 735M102 CASE A &

MUTTISM103 CASE B 7

MVSRWVC2401 | SER NO PLATE 19

VF1760DN002 WASHER 13-1/13-2

VM165R X001 HOLDER 151152

VINZTESMO41 VR KNOB 31/3-2/3-3/3-4/3-5

VINZBGSMO19 CH KNOB 2

V3205FB002 SPECER 18

VSB0EFBOD BARRIER 12-1/12-2

VST0EY BODG SHEET V117211731741 7-5/17-6

K COD0264 XX SCHEMATIC SHEET

KTRWVC240AX | OWNER'S MANUAL

KFO91700E4 POLY BAG

KF232200E4 POLY BAG

KF303000E6 POLY BAG

KKRWVC24001 DISPLAY BOX

ACDCOBZGEA | DC CORD ASSY

BTPP4010BN PAN TAP SCREW +BIT, M4 x 10

BTPTS013AZ TRUSS TAP SCREW +BIT, M5 x 13

BWGH0AOESW | OT LOCK WASHER QUTSIDE TOOTHED, 5M/IM 5 ZN

BWU40B555wW | IT LOCK WASHER INSIDE TOOTHED, 4 M/M 5-ZN

MF2845SN001 SCREW

MUZ765W002 HANDLE

MZ33152002 HOLDER

ZGAAZE0TKD | MICROPHONE

KMRWVC24001 MASTER CARTON




PART NO. PART NAME SPECIFICATIONS SYMBOLIC OR EXPLODED VIEW NO.
VE7BJSM127 FRAME 1-A
VSEITAKODT | FILTER 1-B
ESPE3006NN | BIND HEAD SCREW | +BIT,M3x6
BSPPI0OGNT PAN HEAD SCREW | + BIT, M2 x 6 PLASTIC
BSPU300BNN | THIN BIND SCREW | + BIT, M3.x 8
CCDB121KOM | CERAMIC CAP. 120 pF 50V C38
CCDB181KOM | CERAMIC CAP. 180 pF 50V C45
CCDB220K0M | CERAMIC CAP, 22pF B0V c20
CCDB221KOM | CERAMIC CAP. 220 pF 50V C48/C99
CCDB320KPM | CERAMIC CAP, 33 pF 50V Cc23
CCDR3ISOKOM | CERAMIC CAP. 39pF 50V 139
CCDE391KOM | CERAMIC CAP. 390 pF 50V c49
CCDBGSOKOM | CERAMIC CAP, EBpF 50V C37
CCDB820KPM | CERAMIC CAP. g2 pfF 50V C26
CCFBO20COM | CERAMIC CAP. SL ZpF 50V C51/C67
CCFBOSOCPM | CERAMIC CAP. PH 5pF 50V C121
CCFBOSOCOM | CERAMIC CAP. SL 5pF 50V C68
CCFE100D0OM | CERAMIC CAP, SL 10 pF 50V C38
CCFEBIDIKOM | CERAMIC CAP, 100 pF SOV C48
CCFBI21KOM | CERAMIC CAP. 120 pF GOV C25/C31/C44/C47
CCEFB1B0KPM | CERAMIC CAP, 15pF 50V cz1
CCFE150KOM | CERAMIC CAP, 15pF 50V C80
CCFBISIKOM | CERAMIC CAP. 150 pF SO0V C63
CCEB180KPM | CERAMIC CAP, 18pF 5OV C124
CCFB180KOM | CERAMIC CAP, 18pF S0V c19
CCFB220K0M | CERAMIC CAP. 22pF S0V CE2
COFB221KOM | CERAMIC CAP, 220 pF 50V C103
CCFB270K0M | CERAMIC CAP, 27 pF S0V C54
CCFB271KOM | CERAMIC CAP, 270 pF 5OV C50
CCFBEI90KOM | CERAMIC CAP, 39pF 50V c8
CCFB301KOM | CERAMIC CAP, 390 pF 5OV C41
CCFBATOKPM | CERAMIC CAP, 47.pF 50V C123
COFBATOKOM | CESAMIC CAP, 47 pF 50V C56
CCFBSB0KPM | CERAMIC CAP. 56 pF SOV C1
CEAB330ALX | ELYT, CAPACITOR 32 uF B3V C100
CEACI01ALX | ELYT. CAPACITOR 100 gF 10V C78
CEACI3DALX ELYT. CAPACITOR 33 uF 10V 140
CEAC4704LX | ELYT. CAPACITOR 47 uF 10V Ca2
CEADIODALX | ELYT. CAPACITOR 10uF 16V C109/C79
CEADIOIALX | ELYT. CAPACITOR 100 gF 1BV Cg94
CEAD221ALX | ELYT. CAPACITOR 220 uF 18V C105/C122
CEAD4TOALY | ELYT. CAPACITOR 47 uF 16V C128
CEAE3R3ALXY | ELYT. CAPACITOR 3.3ufF 25V C108/C134
CEAE4RTALX | ELYT. CAPACITOR 4.7 uF 25V CB8
CEAE470ZLS | ELYT. CAPACITOR 47 uyF 25V 5P C11
CEAGOIOZMN | ELYT. CAPACITOR 1 uF 50V MS c4
CEED102ALX | ELYT. CAPACITOR 1000 gkF 16V C110
CEVC330ALX | ELYT. CAPACITOR C106
CEVD4704LX | ELYT. CAPACITOR 102
CEVE3RAALX | ELYT. CAPACITOR 107
CEVGEOI0ALX | ELYT. CAPACITOR C53
CKDEIOZPENM | CERAMIC CAP. 0.01 uF 50V C111/C135/C22/C33/C35/C5/CEBE/CTT
CKDB222PEM | CERAMIC CAP. 2700 pF 5OV C126/C97
CKDB223ZFM | CERAMIC CAP, 0.022 uF 50V C70
CKDB331KEM | CERAMIC CAP, 5 C24
CKDB472PEM { CERAMIC CAP. ] 4700 pF S0V Cs2
CKDBATIZFM | CERAMIC CAP, i 0.047 pF 50V C120/C136/C138/CH9/CA/CTA/CI
CKDBSE1KEM | CERAMIC CAP, i 560 pF S0V c9?
CKFB102PEM | CERAMIC CAP, 1000 pF 50V C93
CKEB103PEM | CERAMIC CAP. 0.01 gF 50V C10/C112/C127/C30/C32/C38/C42/C43/C55/
C58
CKFEBZ22PEM | CERAMIC CAP. 2200 pF 50V c125
CKFB472PEM | CERAMIC CAP. 4700 pF SOV Co0
CKFB473ZFM | CERAMIC CAP, _ 0.047 uF 50V CEO/CES
COMB102KEH | MYLAR CAPACITOR ; 1000 pF 50V CE5
COMB102KTH | MYLAR CAPACITOR | 1000 pF 50V C86
COMB103KEH | MYLAR CAPACITOR 0.01 kF 50V Cc72/C91
COMB103KTH | MYLAR CAPACITOR 0.01 uF 50V C75/CT76/CO6
COMB182KEH | MYLAR CAPACITOR 1800 pF S0V C119
COMB223KEH | MYLAR CAPACITOR 0.022uF 50V C87
COMBIZIKTH | MYLAR CAPACITOR 0.022uF 50V C120/C83
COMB272KEH | MYLAR CAPACITOR 2700 pF 50V C116
COMB33IKEH | MYLAR CAPACITOR 0.033 uF 50V C115
COMB333KTH | MYLAR CAPACITOR 0.033 uF 50V c118




PART NO, PART NAME SPECIFICATIONS SYMBOLIC OR EXPLODED VIEW NO,

COMB473KEH | MYLAR CAPACITOR 0.047 uF 50V C113/C40/C7/C89

CQMB473KTH | MYLAR CAPACITOR 0.047 uF 50V C71/C73/C81/CB4

COMBBB2KEH | MYLAR CAPACITOR G800 pF 50V Ci14

COMBEBIKEH | MYLAR CAPACITOR 0.068 uF 50V C101/C104

CSSE3R3MDC | TANTALUM CAP. 3.3uF 25V Co8

CTZ6200H01 TRIMMER CAP, CT-1/CT-2

FBRA455A24P | CERAMIC FILTER CF2

FB10R7AD1M | CERAMIC FILTER CF1

LA1JG1010A | CHOKE COIL L10

LATKE1011A | RF COIL L6

LATKE1211A | RF COIL L11

LDADB4024E | RF COIL L14/L15

LOADX3I826M | RF COIL L7

LF124KC0O1S RF COIL L16

LF2RZKD0IN | RF COIL L3

LF270KDOIN | RF COIL 27uH L1

LFG80KDOIN | RF COIL L12/LE

LJ119HO01Y CHOKE COIL CH-1

MBE445X002 | SHIELD CASE

MLASAADOOT | HEAT SINK

MS327AD004 | HEAT SINK

MU453IADO0T | HEAT SINK

MW401CX001 | SHORT JUMPER JW-10

MWA0I1C X003 | SHORT JUMPER

MW401CX004 | SHORT JUMPER JW.5

PTEMI124A0X | PRINTED W. BOARD

QDCTT410X0 | VARI-CAP. DIDODE 17TT410 12V NO-RANK 26MIN D13/D3

QDGOASOXXN | GERMANIUM DIODE | 0AS0 NO-RANK D11/D12/D6/D7

QDSMATS0XN | SILICON DIODE MA150 VF 1.2V VR 35V NO-RANK D14/D16/D17/D4/D5/D8
24MIN

QDSSR1K4AP | SILICON DIODE SRIKALF VR 200 A-RANK SMIN D1Q

QDZAI062MN | ZENER DIODE M.A&1062M D2

QDZAT08TMN | ZENER DIODE MATO9TM :;

QamMANZ40PN | 1.C. ANZ40P [ox]

QOMDG458AC | LLC. LAE458 ICh

QaMO7205ET | I.C. TAT205 IC4

QQ0o07137AC | 1.C. LCT7137 [of!

QTAJAIO0BQ | TRANSISTOR JA100 PORG-RANK Qis

QTAD719XHN | TRANSISTOR 254719 PO, R-RANK Q17

QTCJCE00BQ | TRANSISTOR JC500 P,Q-RANK Q12/Q14/032

QTCJCE0000 | TRANSISTOR JCS00 O,P,0-RANK Q18/Q18/020/021/022/023

OTCI1218XDN | TRANSISTOR 25C1318 Q,R-RANK Q16

QTC1327%XBN | TRANSISTOR 2501327 T-RANK Q13

QTC1359XBN | TRANSISTOR 25C1359 B,C-RANK Q10

QATC1846XAN | TRANSISTOR 25C1846 Q,R,S-RANK Qs

QTC1908X%BA | TRANSISTOR 25019098 Q,R-RANK 08

QTC2724XDE | TRANSISTOR 2502724 D-RANK Qi

QTC2724XFE | TRANSISTOR 2502724 C,D-RANEK Q11/Q25/Q3/04/Q7/Q8/Q8

RD25PJ101X | CARBON FILM R. 0.25W 100 ohm R22/R28

RD25PJ102X CARBON FILM R. 0.25W 1K ohm R24/R36/R3I7/R68/RT0/R 9

RO25PJ103X | CARBON FILM R. 0.25W 10K ohm R2/R4/RB0/RE65/RE6/RT2/R74/R75/

R78/R79/R85/R90/R94

RD25PJ104X | CARBON FILM R. 0.25W 100K ohrm R48

RD25PJ121X CARBON FILM R. 0.25wW 120 ohm R35

RD25PJ153X | CARBON FILM R, (.25W 15K ohm R42/RE67/RB4

RD25PJ154X | CARBON FILM R. 0.25W 150K ohm R15/R8

RD25PJ182X | CARBON FILM R. 0.25W 1.8K ohm RE1

RD25PJ183X | CARBON FILM R, 0.25W 18K ohm RE3/RB2

RD25PJ221X | CARBON FILM R. 0.25W 220 ohm R27

RD25PJ222X | CARBON FILM R, 0.25wW 7.2K. ohm R54/R58/R81/RS3

RD25PJ223X | CARBON FILM R. 0.25W 22K ohm R11/R46/RE2

RD25PJ224X | CAREON FILM R, 0.25W 220K ohm R9

RDZ25PJ271X | CARBON FILM R. 0.25W 270 chm R119/R87

RD25PJ272X CARBON FILM R. 0.25W 2. 7K ohm R10/R29/R69

RD25PJ273X | CARBON FILM R, 0.25W 27K ahm R52/R73

RD25PJ331X | CARBON FILM R. 0.25W 330 ohm R20/R44/R50

RD25PJ332X | CARBON FILM R. 0.25W 3.3K ohm R13/R34/R41/R89

RD25PJ333X | CARBON FILM R, 0.25W 33K ohm R43

RD25PJ391 X CARBON FILM R. 0.25W 390 ochm R16/R33/RS88

AD25PJ393X CARBON FILM R, 0.25W 39K ohm R20

RD25PJ470X CARBON FILM A. 0.25W 47 ohm R45/RB4

AD25PJ471% | CARBON FILM R, 0.25W 470 ohm R31/R39

RD25PJ472X | CARBON FILM R. 0.25W 47K ohm R1B/R28/R53/R6/RE3/A92

RD25PJ473X | CARBON FILM R, 0.25W 47K ohm R12/R23/R26/R4%




PART NO. PART NAME SPECIFICATIONS SYMBOLIC OR EXPLODED VIEW NO,
RD25PJ474X CARBON FILM R. 0.25W 470K ohm R7I&6/RTY
RD2EPJ560X CARBON FILM R, 0.25W 56 ohm Rb
RDZ5PIB61 X CARBON FILM R. 0.25W 560 obm R1/RS7
RD25PJ5E2X CARBON FILM R. 0.25W E.6K ohm R3/R51/R122
RD2Z5PJGBOX CARBON FILM R. 0.25W 68 aohm R19
RDZ25FJEE1 X CARBON FILM R, 0.25W 680 ohm R25/R2Z7/R30/R40
RDZ5PJGE2X CARBON FILM R. 0.258W 6.8K ohm R17
RD25PJB20X CARBON FILM R. 0.25W 22 ohm RE9
RDZE8FPJB21 X CARBON FILM R. 0.25W 820 ohm R47/RT
RD2ZEP)B24 X CARBON FILM R, 0.25W 820K ohm R56
RD25TJA72X CARBON FILM R. 0.25W 4 7K ohm R55
RDZ5TJGEZX CARBONM FILM R. 0.28W B.BK ohm R14
ROZ25TODD0X CARBON FILM R. 0-OHM STRAITE
ERGHANJZTIE M-OXIDE FILM R, 172W 270 obhm R10Z/R9G
RG1ANJIGIB M-OXIDE FILM R. 1w 150 ohm R102
RPONBSOT104 SUB-MINIT VR. BVE
RPGNB20201 SEMI-FIXED VA. 2K ohm B-CURVE AvVZ
RPGNB20301 SEMI-FIXED VR, 20K ahm B-CURVE RV1/RV3I/RV4
RPGNE301O1 SEMI-FIXED VR, 300 ohm B-CURVE ARVE
RXHANJTID0B M-OXIDE FILM R. 172w 10 ohm RB6
RX1ANJMRYE M-OXIDE FILM R. W 4.7 ohm RS7
SR2Z040203H ROTARY sWITCH SW-
TRASCZO0TM RF COIL L4
TRASCZOOZM RF COIL La
TRAGCZOOZIM RF COIL L9
TRO7LADDAN LF.T. T10
TRO7LAQ2ZN ILF.T. T11/T12
TRO?MADODGN RFCOIL TS
TRI10CADOBT RF COIL T3
TRI10CBOOST R.F.T. T2
TRI10CMO03M RF COIL T7
TR1OCPOOSS RF TRAMS T4
TR10DBOO3M | RF COIL T1
TR1OMADTEM RF COIL T8
TR1OMPOOZT RF COIL T5
VE22IRH002 SILICON SHEET
WEI11 X X001 BARRIER
WUGDOTEEX X | HI-WRAPWIRE MNOG
WUGDIZIEEXX | HIWRAP WIRE NDE
WUGIIEEEX K | HI-WRAF WIRE MO
WUGZ18BEEX X | HI-WRAP WIRE WNO2
WUGZ13EEXX | HI-WRAP WIRE NO3
WUGET1TEEX X | HI-WRAP WIRE MDY
WUGETIEEXX | HI-WRAP WIRE NOB
WUGBIZEEX X | HI-WRAP WIRE NO10
WUHOOAAAX X | HI-WRAP WIRE NO1 7T
HASI1CZ2006X XTAL OCILLATOR X
Y FLOOODODT FERRITE CORD
MWA01C X001 SHORT JUMPER JW-10
PTLDOTOCOX FRINTED W. BOARD
QL-sL2zac L.E.C. SL2221C GREEN COM.-A. LED
ZZZ0000020 PC JOINT
CKDBI10O3IFEM CERAMIC CAP 0.01uF 50% =0, +100% E C251
MWA01C X004 SHORT JUMPER JW-5 J2
PTSWI1B4A0X PRINTED W. BOARD
QDSMATE0XN | SILICON DIODE MATBD VF 1.2V VR 35V NO-RANK D251/D252/D253/D254/D255/D 256/
240N D257/D258/D259/D260/0261/D 262
COTCI13H3IXAN TRAMSISTOR 25C13283 O-RANK 1251
RO25TJI102X CARBON FILM R D.25wW 1K, ohm R251/R252/R253/R254/R255/R 256/
R257/R258/RZ09/R2GD/R261/R262(
R263/R264
RD2ETJ223X CARBON FILM R. 0.25W 22K ohm RZ656




	Parts_List_1.gif
	Parts_List_2.gif
	Parts_List_3.gif
	Parts_List_4.gif

